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INSTRUCTIONS:-
L All questions are oompulsory.
2. Write your answer to the point and draw neat sketch or figure.
3. Figures to the right indicate the full marks ofquesJions.

SECTION - I
Q.l (a) What are the disadvantages of structural programming over OOp? [05]

Explain.
{b) Explain any two manipulators in C++ with an example.
(c) Explain following :

(i) private
(ii) protected
(iii) register storage class

OR
Q.l (a) Write a procedural C++ program to find the sum of following series; I05l

sum=I+-+-+-+. . .
_2 _4 _6 *2n

21 41  61  2n l
Explain the concept ofdata hiding and Data encapsulation in OOp.
What is function of scope resolution operator in OOP? Give sample
code in C# language.
Explain the default argument flurction.
Explain a concept of friend function and friend class with one sample
C+pro$arn.

OR
(a) Explain the concept of constructor and deshuctor.
(b) Create a complex class that stores the real and imaginary value of two

variables. Overload the * spemlsl so that the uset can add two
variables and tlisplay ou screen.

(a) Write an OOP to conoate two strings with conskuctor.
O) What is the importance of private and public keyword in inheritance

concept? If inheritance type for class is changed to protected, \i/hat
changes would be done during accessing data members and its effect
on fi'ther inheri*t* ntoJit"ron 

- r,
(a) A matrix is given below

t$
a=h

ls

I04l
I03I

t04l
t03l

l0sl
[061

[0s]
[061

I06I
l06l

l04l

o)
(c)

Q.2 (a)
o)

Q.2

Q.3

1 6l rr0l
r  r l ;  D=]eol ;
2 sJ lz4J

Q.4

Apply the Gauss Jordan method and solve the equationpttr] = ia1,
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(b) A boy flying the kite, the thread of a kite which follow the

curve e* - 1, x represents the horizontal distance fiom a boy to
projection point ofkite' For the different values ofx= 0, 1' 2, 3

ionsider the height ofthe points of thread. Use Lagrange polynomial

and find the height ofthread point at the distance ofx=2.5'

(c) Solve the Leonardo equation
f t t ) = x ' - r - 2 = 0

by
points

Muiler's method. Assume tbree

.5r = 1,.r? = 1.2 rs = !.!. Only two iterations processed

t08l

t04l

Q.4

I06l
106l

l0si

[061

t0sl

l06l

Q.s

Q.s

OR
(a) Find conect to 5 decimai places, the x coordinate ofthe point on the

curve y: ln x which is closest to the origine' Use Newton Method'

(b) The points A(0,-1), B(2,113), C(3,381), D(5,1754), E(6,3029)' F(-1'-

16) ripreser.t the path ofa bird in 2D plane create in sky' Use Neuton

nividid Differenie formula and find the coordinates of bird if its x

coordinate is 4.
(a) f[r] = 0. g + ass - !*Ssr + 675.C -gsBcN + *0$:5

Use Simbson's 1/3 rules to integrate the above fiurction for five

segments from a=0 to b=0.8.

@) Use the Taylor Method recursively to solve the equation

3l = xz+yE, y{sl = o
For the interval (0, 0.4) using two subintervals of size 0'2'

OR
(a) The number of cell phones (in millions) owned by the residents of a

city is given by the equation$ = yctr y{o} = r' Where t is the time in

year from 2008. Use Euler's method with four equal steps to estimate

the number ofcell phones owned in the year 20i0'
(b) Find the integral using Simpson's 1/3 rule

(i) fl e" d,r
\ - /  J  - 1

(ii) ffvCi"' ax
(a) Find the Fowier cosine series for /{x) = x5 on 0 < x { L

(b) Solve the following BVP

J'" + e). = sir jr r'(o) = s tG) = -;

Q.6

END OF PAPER
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